NCERT Class 8 Maths Chapter 14 Factorisation

Exercise 14.1

1. Find the common factors of the given terms.
(i) 12x, 36

(ii) 2y, 22xy

(iii) 14 pq, 28p2q?

(iv) 2x, 3x2, 4

(v) 6 abc, 24ab?, 12azb

(vi) 16 x3, —4x?, 32 x

(vii) 10 pq, 20gr, 30 rp

(viii) 3x2y? , 10x%y? , 6x2y?z

Solution:

(i) Factors of 12x and 36

12x = 2x2x3xX

36 = 2x2x3%3

Common factors of 12x and 36 are 2, 2, 3
and , 2x2x3 =12

(i) Factors of 2y and 22xy

2y = 2xy

22xy = 2x11xxxy

Common factors of 2y and 22xy are 2, y
and ,2xy = 2y

(iii) Factors of 14pq and 28p2q

14pq = 2x7Xpxq

28p2q = 2x2XTXpXpXq

Common factors of 14 pqand 28 p>qare 2,7 ,p, q
and, 2x7xpxq = 14pq

(iv) Factors of 2x, 3x2and 4

2x = 2xX

3x2= 3xxX*X

4 =2x%x2



Common factors of 2x, 3x2and 4 is 1.

(v) Factors of 6abc, 24ab? and 12a%b

6abc = 2x3xaxbxc

24ab? = 2x2x2x3xaxbxb

12 a’b = 2x2x3xaxaxb

Common factors of 6 abc, 24ab2? and 12a%b are 2, 3, a, b
and, 2x3xaxb = 6ab

(vi) Factors of 16x3, -4x?and 32x

16 X3= 2X2X2X2XXXXXX

—4x2 = - X2%2%XXX

32x = 2x2x2%2x2xX

Common factors of 16 x*, — 4x?and 32x are 2,2, X
and, 2x2xx = 4x

(vii) Factors of 10 pq, 20qgr and 30rp

10 pg = 2x5xpxq

20qr = 2x2x5xqxr

30rp= 2x3x5%rxp

Common factors of 10 pq, 20qr and 30rp are 2, 5
and, 2x5 =10

(viii) Factors of 3x2y? , 10x3y2 and 6x2y’z

3X2y? = IXXXXXYXYXY

10X3y? = 2X5XXXXXXXYXY

BXY?Z = FX2XXXXXYXYXZ

Common factors of 3x2y?, 10x%y? and 6x2y?z are x2, y?
and, x2xy? = x2y?

2.Factorise the following expressions

(i) 7x—42

(ii) 6p—12q

(iii) 7a*+ 14a

(iv) -16z+20 z

(v) 20I’/m+30alm

(vi) 5x2y-15xy?

(vii) 10a2-15b*+20c?



(viii) -4a>+4ab—4 ca
(ix) x2yz+xy?z +xyz?
(x) ax?y+bxy?+cxyz
Solution:

(i) 7x=Txx

42 = 2x3x 7

The common factor 5 7

S Tx =42 = (Txx)—-(2x3=xT)=T(x-86)
(i) 6p=2Lxixp

12g=2=x2xinyg

The common factors are 2 and 3

L hp-12g=(2x3xp)-(2xixiIxg)
=2x3[p-(2xq)]

=6{p-24)

.[m]?a!—?xuxa

lda=2xTxa

The common factors are 7 and a

Ta'  +1da=(Txaxa)+ (2xTxa)

=Twal[a+2]=Ta (a+2)

(fv) Ibz=2x2x2xdws

MWz =2x2x5xzxzmxz

The common factors are 2, 2, and =z

L 16z +202 = —(2x2x2x2x )+ (2x2xSK =X zx )
=(2x2x=2) [-(2x2)+ (5% =x =)

=4z(-4+5:27)



(v) 200°m =2x2xSxixlxm
Walm =2=x3IxSxaxilzxm
The common factors are 2, 5 [and m
I 200°m +30alm = (2x2xSxixlxm)+(2x3xSxaxixm)
s(2xiwdum)[(Zxl)+ (I xa)]
=10/m (21 + 3a)
(vi) Sx p=Sxxxxxy
]51}': =dxdMxwyny
The common factors are 3, x, and vy
5:\-'.:}'— li.r_r: = (Sxxxxxy)-(IxSxxxypxy)
=S5xxx p[x=(3xy)]
=5w(x-3y)
(vii) 10a2-15b2+20c?
10a2= 2x5xaxa
— 15b2=-1x3x5xbxb
20c? = 2x2x5xcxc
Common factor of 10 a2, 15b? and 20c? is 5
10a>-15b2+20c? = 5(2a*-3b>+4¢? )
(viii) — 4a*+4ab-4ca
—4a? = -1x2x2xaxa
4ab = 2x2xaxb
—4ca = -1x2x2xcxa
Common factor of —4a2,4ab ,—4caare 2, 2,ai.e. 4a
So,
— 4a*+4 ab-4 ca = 4a(-a+b-c)
(ix) x2yz+xy?z+xyz?
XPYZ = XXXXYXZ
XY?2Z = XXYXyXZ
XYZ2 = XXYyXZXZ
Common factor of x?yz , xy?z and xyz? are x, y, z i.e. xyz
Now, x2yz+xy?z+xyz?= xyz(x+y+z)
(x) axzy+bxy+cxyz

axzy = axxxxxy



bxy2z= bxxxyxy

CXYZ = CXXXyXZ

Common factors of a x?y ,bxy?and cxyz are xy

Now, ax2y+bxy?+cxyz = xy(ax+by+cz)

3. Factorise.

(i) x>+xy+8x+8y

(ii) 15xy—6x+5y—2

(iii) ax+bx—-ay—by

(iv) 15pgq+15+9q+25p

(v) z-7+7xy—xyz

Solution:
(i) 'S +ax +Bx+By=srxux+xxy+Bux+Exyp
=x(x+ p)+E(x+y)
=({x+ ¥) (x+8)
(i) 15xy —B6x+3y-2=3xSxxxyp-3xluxx+5yy -2
=3x(5y-2)+1(5y-12)
=(5y-2)(3x+1)
(fii) ax +bx —ar —by m=axx+bhrx—axy-bxy
=xla+b)=via+h)
=(a+h)(x-y)
(v} 15 pg +15 +9g + 25 p =15 pg +9g + 25 p + 15
=3ndx prg+InIng+Sudp+Ins
=3g (5p+3)+5 (5p+3)
=(5p+3) (3g+5)
(v) z2=T+7xy =x)8 =z-xx yuz=T+Txxxy
=z(l-xp)-7 (1-x)

=(l-x) (z-7)

Exercise 14.2

1. Factorise the following expressions.
(i) az+8a+16

(ii) p—10p+25



(iii) 25m>+30m+9

(iv) 49y>+84yz+3622

(v) 4x>—8x+4

(vi) 121b>-88bc+16¢c?

(vii) (I+m)>—4Im (Hint: Expand (I+m): first)
(viii) a*+2a?b?+b*

Solution:

(i) a>+8a+16

= g24+2x4xa+42

= (a+4)

Using identity: (x+y)? = x2+2xy+y?
(i) p—10p+25

= p2-2x5xp+52

= (p-5)

Using identity: (x-y)? = x>-2xy+y?
(iii) 25m2>+30m+9

= (5m)2-2x5mx3+32

= (5m+3)?

Using identity: (x+y)? = x2+2xy+y?
(iv) 49y*+84yz+362>
=(7y)+2x7yx6z+(6z)

= (7y+6zy

Using identity: (x+y)? = x2+2xy+y?
(V) 4x>—8x+4

= (2x)2-2x4x+22

= (2x-2)

Using identity: (x-y)? = x2-2xy+y?
(vi) 121b>-88bc+16¢?

= (11b)>-2x11bx4c+(4c)

= (11b-4cy

Using identity: (x-y)? = x2-2xy+y?
(vii) (I+m)2-4Im (Hint: Expand (I+m): first)
Expand (I+m)?using identity: (x+y)? = x2+2xy+y?



(I+m)>-4Im = l2+m?+2lm-4lm

= P+m2-2lm

= (I-m)?

Using identity: (x-y)? = x2-2xy+y?
(viii) a*+2az2+b*

= (a?)+2xa>b+(b?)?

= (@b

Using identity: (x+y)? = x2+2xy+y?
2. Factorise.

(i) 4p>-9¢q?

(ii) 63a>-112b?

(i) 49x-36

(iv) 16x5-144x: differ

(v) (I+m)>-(I-m)?

(vi) 9x2y>-16

(vii) (x>—2xy+y?)—z?

(viii) 25a>-4b>+28bc—49c?
Solution:

(i) 4p—9¢q?

= (2py-(3ay

= (2p-30q)(2p+3q)

Using identity: x2-y2 = (x+y)(x-y)
(i) 63a>-112b?

=7(9a2-16b?)

=7((3a)y—(4by)

= 7(3a+4b)(3a-4b)

Using identity: x2-y? = (x+y)(x-y)
(i) 49x>—36

= (7a)? -6*

= (7a+6)(7a-b)

Using identity: x2-y2 = (x+y)(x-y)
(iv) 16x°—144x°

= 16x3(x>-9)



= 16x3(x>-9)

= 16x3(x—3)(x+3)

Using identity: x2-y2 = (x+y)(x-y)
(v) (I+m)*~(I-m)>

= {(I+m)-(=m)K(I +m)+(I-m)}
Using Identity: x2-y2 = (x+y)(x-y)
= (I+m—+m)(I+m+l-m)

= (2m)(21)

=4 ml

(vi) 9x2y>—16

= (3xy)>-42

= (3xy—4)(3xy+4)

Using Identity: x2-y2 = (x+y)(x-y)
(vii) (x>—2xy+y2)—z2

= (x-yp-z

Using Identity: (x-y)? = x2-2xy+y?
= {(x-y)-zH(x-y)+z}

= (x-y-z)(x-y+2)

Using Identity: x2-y2 = (x+y)(x-y)
(viii) 25a>—4b*+28bc—49c?

= 25a>—(4b*-28bc+49c? )

= (5ay-{(2b)-2(2b)(7c)+(7c)}

= (5a)>-(2b-7c)?

Using Identity: x2-y2 = (x+y)(x-y) , we have
= (5a+2b-7c)(5a-2b-7c)

3. Factorise the expressions.
(i) axz+bx

(i) 7p+21q2

(iii) 2x°+2xy*+2x2>

(iv) am2>+bm?+bn?+an?

(v) (Im+1)+m+1

(vi) y(y+2)+9(y+2)

(vii) 5y>—20y-8z+2yz



(viii) 10ab+4a+5b+2

(ix)6xy—4y+6-9x

Solution:

) ax2+bx = x(ax+b)

ii) 7p>+21q? = 7(p*+3?)

iii) 2x3+2xy2+2xz2 = 2X(x2+y2+22)

iv) amz+bmz2+bn2+an?= m2(a+b)+n2(a+b) = (a+b)(mz+n?)
v) (Im+)+m+1 = Im+m+l+1 = m(I+1)+(1+1) = (m+1)(1+1)
vi) y(y+z)+9(y+z) = (y+9)(y+2)

vii) 5y*—20y—-8z+2yz = 5y(y—4)+2z(y-4) = (y—4)(5y+22)
viii) 10ab+4a+5b+2 = 5b(2a+1)+2(2a+1) = (2a+1)(5b+2)
(ix) Bxy—4y+6-9x = 6xy—9x—4y+6 = 3x(2y—3)-2(2y-3) = (2y—3)(3x-2)
4.Factorise.

(i) a*-b*

(i) p*-81

(iii) x*—~(y+z)*

(iv) x*—(x-2)*

(v) a*—2a2b*+b*

(i
(
(
(
(
(
(
(

Solution:
(i) a*-b*
= (@)-(b’y
= (a>b?) (a*+b?)
(a —b)(a + b)(az+b?)
p*—81
-(9)
-9)(p>+9)
= (p>-3?)(p*+9)
=(p-3)(p+3)(p*+9)
(iii) xi—(y+2)* = OeR-[(y+2)?
= {e-(y+zPH xe+(y+z)}
= {(x =(y+z)(x+(y+z){x>+(y+z)}
= (x=y-2z)(x+y+z) {+(y+z)’}

(iv) x*—(x-2)* = (P-{(x-2F¥

(i)
=(p
=(p

2
2



= {x-(x-zyH{x*+(x-z)}
= { X-(x-Z){x+(x-2)} {x*+(x-2)’}
= Z(2x-Z)( x2+x2-2xZ+22)
= z(2x-z)( 2x2-2xz+22)
(v) a*—2ab2+b* = (a2)>-2ab?+(b?)?
= (a=-b?y
= ((a-b)(a+b)y
5. Factorise the following expressions.
(i) p>+6p+8
(ii) g>=10q+21
(iii) p>+6p—-16
Solution:
(i) p+6p+8
We observed that, 8 =4x2 and 4+2 =6
p2+6p+8 can be written as p+2p+4p+8
Taking Common terms, we get
pz+6p+8 = p+2p+4p+8 = p(p+2)+4(p+2)
Again p+2 is common in both the terms.
= (p*+2)(p+4)
This implies: p>+6p+8 = (p+2)(p+4)
(i) g>=10g+21
Observed that, 21 = -7x-3 and -7+(-3) = -10
g>-10g+21 = q>-39-7q+21
=q(g-3)-7(9-3)
=(9-7)(a-3)
This implies q=10qg+21 = (q—7)(g-3)
(iii) p>+6p—16
We observed that, -16 = -2x8 and 8+(-2) = 6
p2+6p—16 = p>—2p+8p—16
= p(p—2)+8(p—2)
= (p+8)(p-2)
So, p*+6p—16 = (p+8)(p-2)



Exercise 14.3

1. Carry out the following divisions.
(i) 28x* + 56x

(ii) —36y? + 9y?

(iii) 66pgr: + 11qr?

(iv) 34xy3z® + 51xy’z

(v) 12atbe + (— 6a°b?)

Solution:

()28x* = 2X2X7 XXXXXXXX

56x = 2x2x2x7xx

2X2XTXXXXXKEXX x3 1
28x4 + 56x = == =3
2H2HINT Hx 2 2

.. —2X2ZKXIKIXYyXy XYy _
- 3+ Qv = =-
(ii) =36y~ + 9y 3 % 3 Xyxy 4y

2 X3 K11 xp xg *q =7 =¥ Xr

(i) 86pg2rd = 11qr2 = = Bpqr

11 =g xr xr

2 1T XX XX KX XY KV KV XE XZ XZ

. 2
(iv) 34x3y3z3 = 51xy%z? = == X%y
IX1T XX KV XY K2 XE X2 3

2 2
(v) 12a%h8 + (= Babb?) = 2 223X XDT_ 5 29

—2 %3 xa®xbh*

2. Divide the given polynomial by the given monomial.
(i)(5x—6x) + 3x

(ii)(3y*—4y*+5y*) +y*

(iii) 8(x*y2zz+x2y’z2+x2y2z%)+ 4x2y2 72

(iv)(x3+2x2+3x) +2x

(v) (p*a*-p°q°®) *+ p*q°

Solution:



(i) 51 —6x = x(5x - Q)

{5.1.':—ﬁ.rh:S.r—+——[5.t—ﬁ}
Ix 3
{:a]3_u'h—41'h+i_r;— 1'4[3_'.'4—4_'.':+5]
4 1 S
3 v (3y -4y +3) B
By -4y +sytyey’ = - =3y —4y 45
1 1 3 13 0z 1 03 3 2 1 3
(fif) B{x ¥ = +x ¥y = +x y =z )=8x ¥ = (2+ y+ 2)
. I . . H.‘l.':'u':::{.'f'l' V+ =)
Blx vz +x ¥y z  +x ¥y z |+dx y =z = - S— =2{x+ ¥+ )
4x v =7
(i) .'fa'3.1':+3.T_.T[.1':'3.1"3}
. . wx  +2x7+3) 1,
(¥ +2x +3x)+2x= = =(x + 2x + 3)
1x 2
: & 3 I | ] 3
vy pg —-pg =pgilyg —p)
3 E | | |
1 & [ 13 P g lg —p ] 1 3
lpg —pglrpyg =——""—=4 - p

Py
3. Work out the following divisions.
(i) (10x-25) + 5
(i) (10x—25) + (2x-5)
(iii) 10y(6y+21) + 5(2y+7)
(iv) 9x?y?(3z—24) + 27xy(z-8)
(v) 96abc(3a—12)(5b—30) + 144(a—4)(b—6)
Solution:
(i) (10x—25) = 5 = 5(2x-5)/5 = 2x-5
(i) (10x—25) + (2x-5) = 5(2x-5)/( 2x-5) =5
(iii) 10y(6y+21) + 5(2y+7) = 10yx3(2y+7)/5(2y+7) = 6y
(iv) 9x2y?(3z—24) + 27xy(z—8) = 9x2y?x3(z-8)/27xy(z-8) = xy
96 abc x3(a-4)x5(b-6)
144(a-4) (b-6)

(v) 96abc(3a —12) (5b—30) + 144(a—4)[b — 6) = = 10abc
4. Divide as directed.

(i) 5(2x+1)(3x+5)+ (2x+1)

(ii) 26xy(x+5)(y—4)+13x(y—4)

(iii) 52pqr(p+q)(q+r)(r+p) + 104pq(q+r)(r+p)

(iv) 20(y+4) (y*+5y+3) + 5(y+4)



(V) x(x+1) (x+2)(x+3) + x(x+1)
Solution:

5(2x 4+ 1) (3 }
(i1 5(2x+ 1) (3x+ 5)+ (2x+ 1) = * 'S

(Z2x + 1)
= 5(3x +5)
213 =x(x+5)(y -4

13x(y —4)

(i)Y 263y (x+5)i(yv—-—4)+13x(y-4)=

= 2y{x + 5)
(i) 52 pgr (p+gllg+r)ir+ p)+ 104 pg (g+r)i{r+ p)

2x2x13 = prgrr=(p+gi=ig+ri=ir+ p)

2x 2w 2= 13 pruguig+rixir+ p)

|
= =r{p+q)
3

Giv)1 20 (y + 3y + 53y +3) =2x2x8=x{y+ 41 (y +5y+3)

_ Tk 2xSx(yv+ A x(y +5y+3)
W {yv+4){y +5y+3)+ 5({yv+4)=

Sx({y+4)
- 4(_1': + Sy # 3)

x(x + 1y (x+2)(x+ 3)
(vIx({x+DNi{x+2){x+3)+x(x+1) = { {

x{x + 1)

={x+2)(x+3)

5. Factorise the expressions and divide them as directed.
(i) (y>+7y+10)+(y+5)

(ii) (m=14m-32)+(m+2)

(iii) (5p>—25p+20)+(p-1)

(iv) 4yz(z>+6z—-16)+2y(z+8)

(v) Spa(p=g?)*2p(p+q)

(vi) 12xy(9x>—16y?)+4xy(3x+4y)

(vii) 39y3(50y>—98) + 26y>(5y+7)

Solution:

(i) (y>+7y+10)=(y+5)

First solve for equation, (y>+7y+10)

(y2+7y+10) = y>+2y+5y+10 = y(y+2)+5(y+2) = (y+2)(y+5)
Now, (y2+7y+10)+(y+5) = (y+2)(y+5)/(y+5) = y+2

(ii) (m*=14m-32)+ (m+2)

Solve for m>=14m-32, we have

mM>—-14m-32 = m2+2m-16m-32 = m(m+2)-16(m+2) = (m—-16)(m+2)



Now, (m>-14m-32)+(m+2) = (m—-16)(m+2)/(m+2) = m-16

(iii) (Sp*-25p+20)+(p-1)

Step 1: Take 5 common from the equation, 5p>-25p+20, we get
5p>—25p+20 = 5(p—5p+4)

Step 2: Factorize p>—5p+4

p*—Sp+4 = p*—p-4p+4 = (p—1)(p—4)

Step 3: Solve original equation

(5p*=25p+20)+(p—1) = 5(p—1)(p—4)/(p-1) = 5(p—4)

(iv) 4yz(z> + 6z—16)= 2y(z+8)

Factorize z+6z-16,

22+6z-16 = z2-2z+8z-16 = (z—2)(z+8)

Now, 4yz(z2+6z—16) + 2y(z+8) = 4yz(z—2)(z+8)/2y(z+8) = 2z(z-2)

(v) Spa(p-a?) + 2p(p+q)

p>—q? can be written as (p—q)(p+q) using identity.

Spa(p*=a?) + 2p(p+q) = Spa(p-a)(p+q)/2p(p+q) = 5/2q(p—q)

(vi) 12xy(9x>—16y?) + 4xy(3x+4y)

Factorize 9x>—16y2 , we have

Ix—16y2 = (3x)—(4y)* = (3x+4y)(3x-4y) using identity: p>—q? = (p—q)(p+q)
Now, 12xy(9x*—16y?) + 4xy(3x+4y) = 12xy(3x+4y)(3x-4y) /4xy(3x+4y) = 3(3x-4y)

(vii) 39y3(50y>-98) + 26y*(5y+7)
st solve for 50y>-98, we have

50y>—98 = 2(25y2—49) = 2((5y)=T7?) = 2(5y-7)(5y+7)
Now, 39y3(50y2—98) + 26y*(5y+7) =

3 %13 xy*x 2(5y-7) (5y +7)
2 x13xy?(5y+7)

= 3y(Sy =7)

Exercise 14.4

1. 4(x-5) = 4x-5

Solution:

4(x- 5)= 4x — 20 # 4x — 5 = RHS



The correct statement is 4(x-5) = 4x—20
2. x(3x+2) = 3x>+2

Solution:

LHS = x(3x+2) = 3x2+2x # 3x>+2 = RHS
The correct solution is x(3x+2) = 3x2+2x
3. 2x+3y = 5xy

Solution:

LHS=2x+3y # R. H. S

The correct statement is 2x+3y = 2x+3 y
4, x+2x+3x = 5x

Solution:

LHS = x+2x+3x = 6x # RHS

The correct statement is x+2x+3x = 6x
5. Sy+2y+y-7y =0

Solution:

LHS = 5y+2y+y—-7y =y # RHS

The correct statement is 5y+2y+y—7y =y
6. 3x+2x = 5x?

Solution:

LHS = 3x+2x = 5x # RHS

The correct statement is 3x+2x = 5x

7. (2x)2+4(2x)+7 = 2x2+8x+7

Solution:

LHS = (2x)2+4(2x)+7 = 4x>+8x+7 # RHS
The correct statement is (2x)2+4(2x)+7 = 4x2+8x+7
8. (2x)2+5x = 4x+5x = 9x

Solution:

LHS = (2x)2+5x = 4x>+5x # 9x = RHS
The correct statement is(2x)2+5x = 4x2+5x
9. (3x + 2)2 = 3x2+6x+4

Solution:

LHS = (3x+2)2 = (3x)2+22+2x2x3x = 9x>+4+12x # RHS

The correct statement is (3x + 2)2 = 9x2+4+12x



10. Substituting x =- 3 in

(a) x> + 5x + 4 gives (— 3)#5(- 3)+4 = 9+2+4 =15

(b) x2 — 5x + 4 gives (- 3)— 5(-3)+4 =9-15+4 = -2

(c) x2 + 5x gives (— 3)+5(-3) =—-9-15=—-24

Solution:

(a) Substituting x = — 3 in x>+5x+4, we have

x2+5x+4 = (— 3)2+5(— 3)+4 = 9-15+4 = — 2. This is the correct answer.
(b) Substituting x = — 3 in x>-5x+4

x>—5x+4 = (-3)>-5(— 3)+4 = 9+15+4 = 28. This is the correct answer
(c)Substituting x = — 3 in x2+5x

x2+5x = (— 3)2+5(-3) = 9-15 = -6. This is the correct answer
11.(y-3)2 = y>-9

Solution:

LHS = (y=3)?, which is similar to (a—b)? identity, where (a—b)? = a*+b*2ab.
(y — 3)? = y*+(3)—2yx3 = y?+9 -6y # y>— 9 = RHS

The correct statement is (y—3)2=y2 + 9 — 6y

12. (z+5)2 = z2+25

Solution:

LHS = (z+5)?, which is similar to (a +b)? identity, where (a+b)? = a2+b>+2ab.
(z+5)2 = z2+5242x5xz = z22+25+10z # 22+25 = RHS

The correct statement is (z+5)2 = z2+25+10z

13. (2a+3b)(a—b) = 2a>-3b?

Solution:

LHS = (2a+3b)(a—b) = 2a(a—b)+3b(a-b)

= 2a>—2ab+3ab—-3b?

= 2a*+ab—-3b?

# 2a>-3b?> = RHS

The correct statement is (2a +3b)(a —b) = 2az+ab-3b?

14. (a+4)(a+2) = a2+8

Solution:

LHS = (a+4)(a+2) = a(a+2)+4(a+2)

= a*+2a+4a+8

= a>+6a+8



# a>+8 = RHS

The correct statement is (a+4)(a+2) = a>+6a+8

15. (a—4)(a-2) = a>-8

Solution:

LHS = (a—4)(a—-2) = a(a—2)—4(a-2)

= a—2a—4a+8

= a~—6a+8

# a>-8 = RHS

The correct statement is (a—4)(a-2) = a>-6a+8

16. 3x?3x2=0

Solution:

LHS =3x2/3x>=1# 0 = RHS

The correct statement is 3x2/3x? = 1

17. 3x+1)3x2=1+1=2

Solution:

LHS = (3x2+1)/3x? = (3x2/3x?)+(1/3x2) = 1+(1/3x?) # 2 = RHS

The correct statement is (3x2+1)/3x2 = 1+(1/3x?)

18. 3x/(3x+2) = >

Solution:

LHS = 3x/(3x+2) # 1/2 = RHS

The correct statement is 3x/(3x+2) = 3x/(3x+2)

19. 3/(4x+3) = 1/4x

Solution:

LHS = 3/(4x+3) # 1/4x

The correct statement is 3/(4x+3) = 3/(4x+3)

20. (4x+5)/4x =5

Solution:

LHS = (4x+5)/4x = 4x/4x + 5/4x = 1 + 5/4x # 5 = RHS

The correct statement is (4x+5)/4x = 1 + (5/4x)
7x+5_

21. p =7X

Solution:
LHS = (7x+5)/5 = (7x/5)+ 5/5 = (7x/5)+1 # 7x = RHS




The correct statement is (7x+5)/5 = (7x/5) +1
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